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CBOHBIE JaHHBIE

Kypc 1 Kypc 2
ceMm. | CeM. | o | CeM. | ceM. | o Wroro
1 2 3 4
TeopeTunyeckoe obyyeHne 11 6 e 13 > £
P y 5/6 | 4/6 | 3/6 | 5/6 5/6 | 2/6
1 1 2
3 | SK3aMeHaLMOHHble ceccum 46 | 5/6 3 3/6 5/6 25/6 | 62/6
Y | YuyebHas npakTuka 2 2 2
H | HayuHo-uccnea. pabota 1 4 10 10 14
M | NponsBoacTBEHHAsA NpaKTUKa 2 12 14 4 18
Mo | MNMpepavnnoMHas nNpakTuka 4 4
3aluuTa BbIMYCKHON KBanNUKaLMOHHOM
I paboTbl, BK/IOYAst MOArOTOBKY K 4 4 4
npoueaype 3awwumTbl U Npouesypy
3aLmnThI
8 18
K | KaHukynbl 1 4/6 9 4/6 9 9 4/6
1 5/6 | 22/6 1 5/6 | 22/6 | 44/6
H 3/6 3/6
% epaboune npa3gHnYHbIE aHK (He
BKJ1O4asi BOCKpECEHbS) (5 (14 (5 (14 (28
© AH) | AH) © AH) | AH) | AH)
AH) AH)
MpofoMKUTENBHOCTL 00Y4YEHMSI
6onee 39 Hen 6onee 39 Hen
(He Bk/toYast Hepaboume Npa3gHUYHbIE OHW U
KaHWKynbl)
24 27
Utoro 21 31 52 176 | 5/6 52 104
CryneHToB

Mpynn




